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X BB o H 5 OB SR 104 9H mOE T OB KB OE OB K B 473 t

[B73¢ 374 t ] [BEZE 99 t ]
B AWEITHEIBASBELL 22 % ERSRRS B ATEIXAIREBBEE 13 %k ey
B M (BlaAR)
38 ¥ = £
Bk = FEEM | B | B & Z 1B B0 H FEEM | B | B #E Z B
SC VA & [ 200 g 129 86 | BHA FOEK L 10 ke 4, 104 1, 944
LA = B 200 g 108 — | 2HRA O 10 ke 3, 888 —
ZEDR & 200 g 108 64 | #Fem — — — —
E5NAED = R 200 g 172 108 | B (MARLER) - — — —
HFhE A 150 g 118 — | JIREA Frag L 7.5 ke 3, 240 1, 620
L AEL = B 150 g 129 108 | EIl& — - — —
— — — — — [ <Y KO 10 ke 12, 960 —
AN 5 10 ke 1, 728 1,080 | 7—/L R A B[ 9 ke 7,776 6, 480
FEEZA U A AbEE 10 ke 2, 376 1,296
< W = ¥ 15 kg 2, 700 1, 296
Xy XY OB 10 ke 1,728 1, 296
| & % 10 ke 2, 700 1, 620
oY R 5 kg| 3,240 —
ASCE = R 5 ke 1,944 —
k= k = % 4 ke 3, 564 —
B Z IR 150 g 108 —
v L x A& 10 ke 3, 780 1,944
rERE A& 20 ke 5, 400 4, 968
A LW T 5 100 g 162 108
EXoY Y H 1 ke| 34, 560 16, 200
LU E B 100 g 64 32




&R R o 15RO R 105 9H Bl OfE Ok E W OB OE R N E 39 ¢t

MO . AREEEESZBERE 5 % B /ARy [fE/ 21 t ] [A3 9t ] [HEF+ 9t ]
BH Ll (BAA)
i y=cl i +
A H FEEM (B L | F E % B fh E| FEEN | B AL | B E Z fE
xS AHEHE KR 1 ke 2, 052 1,836 || HYr F U 1 kg 3,456 1, 080
mESAEHE R 1 kg 1,296 — | HHN SN o — 1 ke 1, 296 702
T 5 H 1 ke 2, 700 270 | # 5= TAU T 1 ke 2, 160 1, 080
P K 1 ke 3, 240 2,700 | ZEHi FOER L 1 ke 1, 458 —
AT EF A 1 ke 324 183 | FVU AV T E 1 ke 5, 400 1,728
AV AA T A\ 1 ke 1, 080 756 | BETFH = dhiEE 1# 248 162
ENTTF w5 1 ke 2, 052 324
EXA =R 1 ke 1, 728 216
EFa AR L 1 ke 2, 700 2, 484
INTE F O 1ke 2,376 324
7YY JbiEE 1 ke 1,512 810
7% AbitgE 1 ke 4, 752 1,620
e & A 1 ke 1,998 594
7V T I 1 ke 3,121 1,728




